Getting ready
for Christmas

Can you tell which pictures are part of the story of the first Christ-
mas? Put a smile & on the stars in the boxes which tell about
Jesus’ birthday.
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"A virgin will have a baby boy, and he will be called Immanuel,”
which means "God is with us.” Matthew 1:19
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To us a child
Is born.

Many years before the prophet Isaiah had told the
people that God promised to send them a savior
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This is how Jesus Christ was born.
A young woman named Mary was engaged to
Joseph from King David's family.
But before they were married,
she learned that she was going to have a baby by God's Holy Spirit.
Matthew 1:18 (CEV)

An angel told Mary she will have a special baby.
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Crossword
Listen CAREFULLY to the Reading and fill in the blank spaces.
Afterwards you will be able to complete the crossword puzzle below.

Matthew 1:18-25 (CEV)

1 across) ThisishowJesus __ wasborn.
9 across) Ayoung named Mary was engaged
7 down) to Joseph from __ David’s family.
17 across) But before they were married, she
that - -
15 down) she was going to have a baby by God’s
_____ Spirit.
4 down) Josephwasa___ man and did not want 3 4
to
12 across) embarrass _____infront of everyone. K 5
13 across) So he decided to quietly call off the =
3 across) While Joseph was about this, '
23 across) an angel from the Lord came to himin a ?
9 10
19 down) The said, “Joseph, the baby that 1
Mary will have = = m
2 down) is from the Holy . Go ahead and
marry her.
20 across) Then after her baby is born, name him °
16
21 down) because hewill___ his people from their 17
sins.” 8 |19
5down) Sothe Lord’s came true, — —
6 across) just as the had said,
11 down) A will have a baby boy,
8 across) and he will be called
14 down) which means*“___is with us.” = =
10 down) After Joseph woke up,heand __ were
soon married,
22 across) justasthe _ ’'sangel had told him to do.
18 across) But they did not sleep together before her _ was born.
16 down) Then Joseph him Jesus.
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Here’s the Code to discover the answers!
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Selected from
Romans1:4
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